/77
C

()

BEXEZHENA:6-nc-14-1 - 3

g IR % B B
i ENES
ENARISES

LAY

I~ Ik
T T
N
:

DS ¢l
Hi ¥
ﬂ_llll-
i
i
{8

BHENERREBANEE &

hERE 109 £ 9 B



TEMEMERDUBNERRBNHEENA

@@ ERBERE : 6-nc-14-1 - 3

% HE;

BEE EEE.

A

il
Y
H2l
il
—an
Hal
it

-

EfFr RNz RAMY R EaE R 4 EAFY RS EEL D
BT HREFE T i

KR ?J‘zﬁrri‘g’ VB2 f[;]ﬁ‘]rﬁ]%ggﬁg ,ﬂ};mqﬂ PAAEFIRE S - o

e L(ar) | 2Ek(ar) | R AL (28I »FFA)
"R 56. 5 18 3. 14
¢ 38. 0 12 3. 17
il 72.5 23 3.15

i\. ]FB%F_]?{])%_RK//\ 'jﬁ,?“‘—‘g:,ﬁ‘rﬁg ;; ]F‘];%
:@Zg_‘jilﬁ‘]%{ E2m£:3.14’4f’]ﬁ‘]




EREZRNSA : 6-nc-14-1 -3

[1, BE6 A FEEES o8 2(F % F=3.14)

ja :
6Xx3.14=18. 84

f% £+3 fmE=3.14
i {1 £=2 £ E X3, 14

£ :18.84 = &

[2. Ljg 15 24l > M £ L5520 2 (A% $=3.14)

i :
15%2=30
30%3.14=94. 2

{3. - B & 314 24 R Fls EE 5020 2 (% =3, 14)
i :

31.4+3.14=10
M &2 Z&=3 14
F 10 A i B AR =% £33.14

[4. - BRI E 94.2 24 R 0 FlehX 8 50 o8 2 (F% %=3.14)

j# :
94. 2+3. 14=30
30+2=15

PN S EAA



.
o
]

TEMEMERDUBNERRBNHEENA

@© BEARBEASA : 6-nc-14-1 -3

ﬂ%‘f

‘ 5. PRIE /& 10 24 ~ ¢ FE /E 20 =4 > v~ B [F] 0[]

a]’ﬁ]m54 LL‘E']F]L’TJE/{;_‘& ’
SR AR BN R D T SRR RS

- T FIF % & 10%3.14 m
S LL LA - 3. 14 Cer

B0 NP F=T IRy 0 @i L -

TRE R 10

¢ FIF R & 20X%3.14

Ja
It
o
~Sg
=
wfF
Ja
Il
o
“E
=
7
wm
&
g
|l
3
Il
|

20

=3. 14

L E/240 24 (£ L5520 (% F-3.14)

2. L1624 PF > A E LS 24 2 (% F=3.14)

3. FI% £ 314 2 el B2A 5 52 n 92 eg )

a2 (% F=3.14)



REMEMERDUBNERENBNHABEENS

BEXRBBANAR : 6-nc-14-1 -3 @

.
P 22 o 1 = . .,
[ . 2/ 12 &bt > 5 - n[}g]ﬁl o HP T % E R 50 AAD

77

CAN [

12%3.14=37. 68 A gL T 4 PR enE B o

1 i BAht £
37.68x==6. 28

12%2:6 ¥ g
(6+6)+6. 28=18. 28 \_
F 118.28 o4&
[2. P L 36 ARl o 20 RF AR A S a0 }
[ERTONN i3k -
36%3.14=113. 04 36><3_14><%:( )
>n-2p(. 20 . S E ., 20
113. 04 X=>=6. 28 | 36x3.14%20
360 B 36010
_1X3.14%2Q2
PreENEN BTk N !
=6. 28

20
36X 3. 14><%—6. 28

5162820



BEARBEASA : 6-nc-14-1 -3

3.EET2 AN AL > § - BR &L 120 Ben%) o

>
~ [ ” 4 02 Zz ™\
é%‘?vaw'lﬁiﬂ/m%‘va{? SN

ja -
120
(72X%3.14) X%

_ 72X3.14X120 1
360. 3
24-92x3.14x1 +
S 3~ R b $5h2 B2 L

~94%3. 14
~75. 36

79:9=36
(36+36)+ 75. 36=147. 36
% 1 147,36 o A

7

7= y 2 2, 3 y 2 7 by N 2 7 Yy N,
L B2 80 24 nflt » 5 - BoFlhs) > R E@ 53k £ L5 52

2. Ljg 50 24 FL - BE & 60 R PR R BB RN LA S0









	空白頁面

